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GENERAL STUDIES (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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‘Hauifr Afdwar’ A o w@lym § & fifkg ? ik o oSs wowl w @ ) WAt
Aferar’ & fagra ity =nfie Pl Y gera A @ fifsg)
(IW 150 w=a1 ¥ i)

‘Constitutional Morality’ is rooted in the Constitution itself and is founded on its
essential facets. Explain the doctrine of ‘Constitutional Morality’ with the help of
relevant judicial decisions.

(Answer in 150 words)

Tafaean, woan ot waafimn ghfem w0 % v =@ =mafas 3 afeest & sfofifta i agn
1 FrE-Eda W == Hife)
(3| 150 wr=at § €ife)

Discuss the desirability of greater representation to women in the higher judiciary to
ensure diversity, equity and inclusiveness.
(Answer in 150 words)
WA % 1449 o s ) degfedt 3 Todl A ot aereniia fRufa gura 3 3% |em e 27
(3| 150 =21 H dife)
How have the recommendations of the 14th Finance Commission of India enabled
the States to improve their fiscal position?
(Answer in 150 words)

el g #, wra & iR 6 sEreed w1 Ffvaa w0 § w6 wEl ab e 8e
(FW 150 =t § difem)
To what extent, in your view, the Parliament is able to ensure accountability of the
executive in India?
(Answer in 150 words)

“vma § wrEwE e TR g age geegl e e 217 ey % eem we, adetE
Hfet # fFg R IrEE F=@ R
(3| 150 wr=at | Fifee)

“Pressure groups play a vital role in influencing public policy making in India.”
Explain how the business associations contribute to public policies.
(Answer in 150 words)

‘o FAETER T ) Afaw aFEET FoowmEn, nuitE wrem G e fTem o
avas g4 ¥ 2| favero Hifvm)
(I 150 w=i # 4ifv)

“Besides being a moral imperative of a Welfare State, primary health structure is a
necessary precondition for sustainable development.” Analyze.
(Answer in 150 words)
“sraaiiie e iR Frea sfem B wds R % e diad gu e (3F wna 3 7)) #
ST ) TIRE HA 6l Aavawmal ¢l feoqoft Fifsg)
(IW 150 wi==i F i)

“‘Earn while you learn’ scheme needs to be strengthened to make vocational
education and skill training meaningful.” Comment.

(Answer in 150 words)
w1 Afe rEaEal, T iR FHmw ¥ gvEs F OAfensll ¥ @E geEd @yE b gan fad
(ATEHIBTEH) TaH i a1 ST el 8¢ HIGTEW T8 iy

(3W 150 =zt | Hifsm)

Can the vicious cycle of gender inequality, poverty and malnutrition be broken
through microfinancing of women SHGs? Explain with examples.
(Answer in 150 words)
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14.

“afe frm F5 v ofirn F fawm A FEE F @, T TEd T TF THH F B G ¢l @
FYH F ATeIF o, Bl 5 991 § Afi § 9IRa & wwE F1 wdeqo Hifsig)
(IW 150 w=a1 & dfs)

“If the last few decades were of Asia’s growth story, the next few are expected to
be of Africa’s.” In the light of this statement, examine India’s influence in Africa in
recent years.

(Answer in 150 words)

“ggeh Tsa ST, 1 % w9 H U U A & @At 1 A @ R S acheE |ifedd /9 6
qa § FE s gl 81’ fade i)
(IW 150 =2t | i)

“The USA is facing an existential threat in the form of a China, that is much more
challenging than the erstwhile Soviet Union.” Explain.
(Answer in 150 words)

T Tog-fasiy F areR wuw gEA1 fO IRR R 991 §E A % Fal J=[e o1 (o e 3mg0)
¥F SR W FE T WA I3 ©@ ) TAiF, o Ao 3go st & oy Al g & € wwmly 0
Uk @A i1 with Tedfae 761 ) WRa % e el % foiy ge # fad=m Hifsm)
(IW 250 w=at | Fifsw)
The jurisdiction of the Central Bureau of Investigation (CBI) regarding lodging an
FIR and conducting probe within a particular State is being questioned by various
States. However, the power of the States to withhold consent to the CBI is not
absolute. Explain with special reference to the federal character of India.
(Answer in 250 words)

Jaft gEEER S 3 9Ra § gee R ¥ e § w16 g8 9% aren fe @, iR st 9
AThdar 3R guTETeEl & favg fteR sam § e ® 81 3 SEATers 3R STeri die
=1 forveioon td §U GURTeS T[T % gaE i)

(I 250 w=a1 # i)

Though the Human Rights Commissions have contributed immensely to the
protection of human rights in India, yet they have failed to assert themselves
against the mighty and powerful. Analyzing their structural and practical
limitations, suggest remedial measures.

(Answer in 250 words)

g To9 I 3R Wi % wRagEl #, wWa % afuer i gwen H fafie GRwas w1 e

i)
(3W 250 w=zt § EifSw)
Analyze the distinguishing features of the notion of Right to Equality in the
Constitutions of the USA and India.
(Answer in 250 words)

3 dauf yauE ® guemsy A siwla fum-ohed wonfe @dt #1 swgw Seewn & w
faum-uftedt % #1 ok adam feufa =1 yeaiea i)
(3| 250 w=at | Fifv)

Explain the constitutional provisions under which Legislative Councils are
established. Review the working and current status of Legislative Councils with
suitable illustrations.

(Answer in 250 words)
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15.

16.

17.

18.

19.

20.

1 favrll & dafta wed v wffoal e o R R Infert w w@d § ol el g
% forq wrm-wewi ¥ IRa et &7 Suge sareit & iy T whifrt % St = geai fifg)
(IW 250 =2t | Hifvm)
Do Department-related Parliamentary Standing Committees keep the
administration on its toes and inspire reverence for parliamentary control?
Evaluate the working of such committees with suitable examples.
(Answer in 250 words)

w1 7ol &3 H favw w9 @, Rfea frawar 3 gua w@ g Wi (3mge o o)

HFeq-3ueredal & 1Y frerem it anfide fowm § oo 3o fen @7 shfuer wfta whaw i)

(IW 250 w=a1 # ifsm)

Has digital illiteracy, particularly in rural areas, coupled with lack of Information

and Communication Technology (ICT) accessibility hindered socio-economic
development? Examine with justification.

(Answer in 250 words)

“qaft @ YRd # Afeend 3 fafm & § scrra wifta i R, @ SR Afeenstt ek
THEE ReE & fa wmie g fgaeers @ ) afken fen ok aRen wwheor 6
Il % Affes FH-F gwaay 79 ahEn F oRadt § TeEE 8 g6 87

(IW 250 =zt & i)

“Though women in post-Independent India have excelled in various fields, the social
attitude towards women and feminist movement has been patriarchal.” Apart from
women education and women empowerment schemes, what interventions can help
change this milieu?

(Answer in 250 words)

1 AFNG TN AR - @EA, AW AriE B TN TEH FE F e e d9 Y1 w5
Ifcys WM Wegd 9 T 87 30 dafous wiowm 6t it i @ i)
(3| 250 W=t § difsw)

Can - Civil Society and Non-Governmental Organizations present an alternative
model of public service delivery to benefit the common citizen? Discuss the
challenges of this alternative model.

(Answer in 250 words)

o Hio 3o F Tl 3R ewdl 1 T wiaw i) wwa F fog e w0 wew ¥7
(3 250 =2t & difvr)
Critically examine the aims and objectives of SCO. What importance does it hold
for India?
(Answer in 250 words)

WRA-WENd HEETR &3 § i i wearhiansit & gheen F 95 A-Tg geiell AUKUS &1 %W
B F1 9% 39 & | UNE WEER F1 E o4 5 W@ 87 999F 9Rg™ #, AUKUS i it 3R a9

#1 faa= Fifg)
(3W 250 =31 # i)
The newly tri-nation partnership AUKUS is aimed at countering China’s ambitions
in the Indo-Pacific region. Is it going to supersede the existing partnerships in the
region? Discuss the strength and impact of AUKUS in the present scenario.
(Answer in 250 words)
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